PARTS LIST

ITEM] QTY [ PART NO. PART DESCRIPTION LENGTH UNIT WT. NET WT.
1 | 3 [xHALO-sQT X-HALO-SQT 6in 2.88 8.65
2 | 12 | x-HALO-BP X-HALO-BP 81/2in 1.18 14.22
3 | 6 | x-HALO-LP X-HALO-LP 71/8in 0.55 3.29
4 | 3 [ x-HALO-AP X-HALO-AP 51/2in 1.04 3.12
5 [ 3 A34112 3/4" X 1-1/2" HDG A325 HEX BOLT 11/2in 0.38 1.14
6 | 3 G34LW 3/4" HDG LOCKWASHER 0.04 0.13
7 [ 3 G34NUT 3/4" HDG HEAVY 2H HEX NUT 0.21 0.64
8 [ 6 G58R-6 5/8" x 6" THREADED ROD (HDG.) 0.52 3.14
12 G58LW 5/8" HDG LOCKWASHER 0.03 0.31
12 [ @58NUT 5/8" HDG HEAVY 2H HEX NUT 0.13 1.56
12 | G12112 1/2" x 1-1/2" HDG HEX BOLT GR5 1/2in 0.15 1.77
6 G1204 1/2" x 4" HDG HEX BOLT GR5 FULL THREAD 4in 0.27 1.62
18 G12LW 1/2" HDG LOCKWASHER 118 in 0.01 0.25
18 | G12nuT 1/2" HDG HEAVY 2H HEX NUT 0.07 1.29
TOLERANCE NOTES DESCRIPTION 'ﬁﬁsg?ff NY
TOLERANCES ON DIMENSIONS, UNLESS OTHERWISE NOTED ARE: 5,000 LB. 1 Engineering  fecn® S
SAWED, SHEARED AND GAS CUT EDGES (# 0.030") MAINTENANCE Support Team: gy 1N
DRILLED AND GAS CUT HOLES (# 0.030") - NO CONING OF HOLES TIE-OFF POINT 1-888-753-7446  salem, or
LASER CUT EDGES AND HOLES (£ 0.070") - NO CONING OF HOLES A valmont Y covey Ea iy
BENDS ARE t 1/2 DEGREE
ALL OTHER MACHINING (% 0.030") CPD NO. DRAWN BY ENG. APPROVAL PART NO. IR
ALL OTHER ASSEMBLY (2 0.060") CEK  6/6/2018 HALO40 oz
mgmammﬁ: INTHIS DRAWING VALMONT CLASS| SUB | DRAWING USAGE CHECKED BY DWG. NO. I‘ %
NDUSTRIES AND GONSIDERED ATRADE SECRET. o [01]01 SHOP BMC  6/6/2018 HALO40




